

TO VALIDATE, GO TO VERIFY.FTGS.US Certificate Number : **LA-COO-69545-696152797a7fc**
 Date : **January 09, 2026**

Seller (Exporter) Nutrasumma Inc. 1315 John Reed Ct City of Industry CA 91745 USA	Transport Type Vessel	Port of Loading Chicago
	Destination Country China	Destination Port Qingdao
	Export Date 2026-01-04	Exporting Carrier COSCO
Consignee Qingdao Nutrasumma Health Technology Co., Ltd Room 207, Building 1, No.88, Kaifeng Road, Shibe District Qingdao China	Import Permit Number *****	Bill of Lading / AWB 6439013990
	Owner or Agent *****	Forwarding Agent Walmay Logistics Inc.
Buyer (Importer) Qingdao Nutrasumma Health Technology Co., Ltd Room 207, Building 1, No.88, Kaifeng Road, Shibe District Qingdao China	Remarks Consignor reference: QNS-25-006D & QNS-25-008A	



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Nutrasumma-Whey Protein Isolate Powder 464g	16490KG	United States
Nutrasumma-Whey Protein Isolate Powder 464g	1455KG	United States
=====end of products=====	=====	=====

Name of Authorized Trade Association 	 The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: <ul style="list-style-type: none"> - The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods. - The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete. - The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods. - The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents. - In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith. - The Applicant is authorized to give the undertakings set out herein.
Authorized Signature <i>Farhad Ghorbani Fard</i>	



1315 John Reed Ct,
City of Industry, CA 91745
866-866-3993

Invoice

Date	Invoice #
12/19/2025	QNS-25-006D

Bill To
Qingdao Nutrasumma Health Technology Co., Ltd. Room 207, Building 1, No. 88 Kaifeng Road Sifang District, Qingdao, Shandong Province China 266042

Ship To
Qingdao Nutrasumma Health Technology Co., Ltd. Room 207, Building 1, No. 88 Kaifeng Road Sifang District, Qingdao, Shandong Province China 266042

P.O. No.	Terms		Ship Date	Ship Via	
PO1416-4	50% Down/Bal on Del.		1/4/2026	SEA	
Quantity	Item Code	Description	U/M	Price Each	Amount
2,292	00193-B#2510269	Nutrasumma-Whey Protein Isolate Powder 464g. Non Taxable- Must have resale certificate	ea	17.73 0.00%	40,637.16T 0.00
Phone #			Total \$40,637.16		
Web Site			Payments/Credits \$0.00		
			Balance Due \$40,637.16		





1315 John Reed Ct,
City of Industry, CA 91745
866-866-3993

Invoice

Date	Invoice #
12/19/2025	QNS-25-008A

Bill To
Qingdao Nutrasumma Health Technology Co., Ltd. Room 207, Building 1, No. 88 Kaifeng Road Sifang District, Qingdao, Shandong Province China 266042

Ship To
Qingdao Nutrasumma Health Technology Co., Ltd. Room 207, Building 1, No. 88 Kaifeng Road Sifang District, Qingdao, Shandong Province China 266042

P.O. No.	Terms		Ship Date	Ship Via	
1416-6(1st)	50% Down/Bal on Del.		1/4/2026	SEA	
Quantity	Item Code	Description	U/M	Price Each	Amount
25,980	00193-B#2511719	Nutrasumma-Whey Protein Isolate Powder 464g. Non Taxable- Must have resale certificate	ea	17.73 0.00%	460,625.40T 0.00
Phone #			Total \$460,625.40		
Web Site			Payments/Credits \$0.00		
			Balance Due \$460,625.40		



Packing List



Page 1 of 9

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 1</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 2</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 3</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 4</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 5</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight	see page 9		
			Total Gross Weight			
			Total Case/Pallet			
Received in good condition by (signature)			Total Piece	Bill of Lading/Air Waybill Number		
Received Date:			COSCO bk#6439013990			

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com



Packing List



Page 2 of 9

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 6</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 7</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 8</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 9</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 10</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight	see page 9		
			Total Gross Weight			
			Total Case/Pallet			
Received in good condition by (signature)			Total Piece	Bill of Lading/Air Waybill Number		
Received Date:						
				COSCO bk#6439013990		

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com



Packing List



Page 3 of 9

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 11</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 12</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 13</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 14</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 15</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight	see page 9		
			Total Gross Weight			
			Total Case/Pallet			
Received in good condition by (signature)			Total Piece	Bill of Lading/Air Waybill Number		
Received Date:						
				COSCO bk#6439013990		

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com



Packing List



Page 4 of 9

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 16</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 17</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 18</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 19</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 20</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight	see page 9		
			Total Gross Weight			
			Total Case/Pallet			
Received in good condition by (signature)			Total Piece	Bill of Lading/Air Waybill Number		
Received Date:						
				COSCO bk#6439013990		

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com



Packing List



Page 5 of 9

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 21</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 22</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 23</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 24</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 25</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight	see page 9		
			Total Gross Weight			
			Total Case/Pallet			
Received in good condition by (signature)			Total Piece	Bill of Lading/Air Waybill Number		
Received Date:						
				COSCO bk#6439013990		

Please contact May Yang, Nutrasumma Shipper if there are any problems
 with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com



Packing List



Page 6 of 9

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 26</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 27</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 28</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 29</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 30</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
Received in good condition by (print)		Total Net Weight	see page 9			
		Total Gross Weight				
		Total Case/Pallet				
Received in good condition by (signature)		Total Piece	Bill of Lading/Air Waybill Number			
Received Date:						

Please contact May Yang, Nutrasumma Shipper if there are any problems
 with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com



Packing List



Page 7 of 9

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 31</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 32</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 33</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 34</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 35</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight	see page 9		
			Total Gross Weight			
			Total Case/Pallet			
Received in good condition by (signature)			Total Piece	Bill of Lading/Air Waybill Number		
Received Date:						
				COSCO bk#6439013990		

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com



Packing List



Page 8 of 9

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 36</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Partial Pallet # 37</u> 5 cases, 12 ct per case = 60 60 bottles total Pallet Size: 122*102*19cm	2511719	27.84kg	38kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 38</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2510269	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 39</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2510269	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 40</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2510269	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight	see page 9		
			Total Gross Weight			
			Total Case/Pallet			
Received in good condition by (signature)			Total Piece	Bill of Lading/Air Waybill Number		
Received Date:						
				COSCO bk#6439013990		

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com



Packing List



Page 9 of 9

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#						
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6						
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet					
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Partial Pallet # 41</u> 11 cases, 12 ct per case = 132 132 bottles total Pallet Size: 122*102*39cm	2510269	61.248kg	84kg					
Received in good condition by (print)		Total Net Weight	13,118.208 kg							
		Total Gross Weight	17,945 kg							
		Total Case/Pallet	2356 case/ 41 plt							
Received in good condition by (signature)		Total Piece	28272 pc							
		Bill of Lading/Air Waybill Number								
Received Date:		COSCO bk#6439013990								

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com

